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1. Find the PERIMETER of the geometric figures below. State you solution in STANDARD
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2. Find the missing sides. Use what you know about perimeters and work backwards!
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J 4) Molly has (4x + 10) dollars and Ron has (-5x + 20) dollars.
v a. How much money do they have altogether?

S -3x+2

t
Rectangle |77 {OX -(X +Y

Periméter
14x’ +4x -8

(1ax* + ax-3) - (m&‘-cx +~+)
\\-}X i L - (0% tX -4

yx* +10X -1Z
z

G_X1+SX-C,J

“reatcecl witn Docerl$

Made with Doceri



Polynomial Application Add Sub copy.pdf Page 4 of 6

3) Bob mowed (2x? + 5x — 3) yvards on Monday, (4x — 7) yards on
Tuesday, and (3x* + 10) vards on Wednesday.
a. How many yards did he mow in the three days?

@x'+8x-3) ¢ (ux- -7) + (3% +l°)

15)( +°&x\

—

b. If Bob mowed 14x? + 12x — 3 vards total for the entire week,
how many vards did he mow during the rest of the week?

(\l—lx +12x-3) - (S%x* ¥ 4X)
\L&X +|2X - S—SX - 94X

°\X + 33X -j
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4) Molly has (4x + 10) dollars and Ron has (-5x + 20) dollars.
a. How much money do they have altogether?

Uxno) +(-Sx+20)
(ETX.+:30‘)

b. How much more money does Molly have than Ron?
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